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® 314 cm? @ 628 cm? @942 cm?

@ 1256 cm? ® 1570 cm?
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62.8 x 15 & Al4tstd Hyrh.

62.8 x 15 = 942(cm?)
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@ 10cm @ 9cm @SCHI @ 7cm
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® 6cm

B

27159 2ye))
(Rlol) x2+ (F4ol)olma

Eol=[ |=tstd

659.4 = TX7x314x2+2x7x3.14x[ ]
= 307.72 +43.96 x|

43.96 x| ] =351.68

DzS(cm)
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7. = ez TrEolAle YA 9 FuE 7oA 2.

TTT-18.84em- -7 [Sem

® 150.76cm? @141.3cm3 ® 132.66cm?

@ 130.88cm? ® 114.08cm?

HH2] 2)= 18.84 + 3.14 + 2 = 3(cm)
o] Bu])= 3% 3x3.14 X 5 = 141.3(cm?)




@D 2x2x3.14 x4 = 50.24( cm?)

@ 1.5x1.5x3.14 x 5 = 35.325(cm?)
® 2x2x3.14x5 = 62.8(cm?)

@ 2x2x3.14x3 = 37.68(cm?)

® 2.5x 2.5 x 3.14 x 3 = 58.875(cm?)
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11, o2 =9 89 Aol 60.24 cm YU T o] AL E FHE0]7]
= 97159 2ole B em® dY71?

O

o

® 79.52 cm? @87.92 cm? ® 92.86 cm?

@ 100.48 cm? ® 121.88 cm?

(U] =)= (60.24 — 5 x 2) + 4 = 12.56( cm)
(U] 2] 5)= 12.56 + 3.14 + 2 = 2(cm)
(

=
X2X3.14%x2+12.56%5
5.12 + 62.8 = 87.92( cm?)
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12, o2 97159 2HolE 1406.720m YU, 0] §17]52] 2

E oH
cm® JU7H?

@ 6018.44cm? @ 5678.52cm? @ 5024cm?®
@4019.2cm3 ® 31l4cm?®

~EB \
A71529] %olE [ |em 2t 514

8Xx8x3.14 X2+ 16 x 3.14 x| _| = 1406.72

401.92 +50.24 x| | = 1406.72

50.24 x| |=1004.8

|:| = 20(cm)

(P7159] H1]) =8x8x3.14x20
= 4019.2(cm®)
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@ 258¢cm? @ 426cm® ® 684cm?
@ 942cm? ® 1200cm?

(A€@A o] 2u))- (3H2152] 207} sem ) 97)%59] )
=10x10x12-5%x5x%x3.14%x 12

= 1200 — 942
= 258(cm?)
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Fo7 =39 Yol WA Eo] [ Jem o]
017} 10em ¢1 97159 dyo]o] yrojoz
(gHol)=2x[ |x3.14x10=251.2x2

[ ]=251.2+3.14+ 10 = 8(cm)




15. o2 9% 2L 2S AH LS F0= 1 GAA ol
=39 2ol @ cm? YU

@141.3 cm? @ 125.6cm? ® 109.9 cm?

@ 84.78 cm? ® 62.8cm?

HE G AN A
(BAZ] F417ke] 27)
=180°
AE O] M=ol A
(BB F47te] 27))
=120°
oA (FE 9 dH e Hol)
+ (9E ©9 99| Hol)
1 1
= 36x3.14><3’%;j+81 x3.14x%
= 56.52 + 84.78 = 141.3(cm?)




